Year 3 Homework Answer:

Module 5: Introduction to triangles

N/A

Rightangle | Obtuse Obtuse Acute
triangle triangle triangle triangle
Isosceles Isosceles Equilateral | Acute
triangle triangle triangle triangle

Answer may vary, some questions can use scalene triangle.
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Acute triangle: 2
Obtuse triangle: 1
Equilateral triangle: 5
Right triangle: 3

Isosceles triangle: 4

P=5+3+3=11cmor;
P=5+5+3=13cm

Base is 7 cm
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Legis 16 cm

a)
4cm,4cm,4cm
2cm,5¢cm,5¢cm

3cm,4cm,5cm

b)
N/A

6cm, 6.cm, 3cm

108 - 3=36cm



